
Honors Math 2 Factoring Flow Chart 

 

 

 

 

 

 

 

 

 

 

 

 

 

Honors Math 2 Factoring Flow Chart 

Ex. 16x3 + 8x2 – 2x = 2x( 4x2 + 2x – 1) 

2 Terms 3 Terms 4 Terms 

Is this a 

Difference 

of Squares? 

Is this a leading 

coefficient other than 1? 

Is there anything in common 

between the first two terms 

and the last 2 terms? 

ALWAYS FACTOR OUT A GCF FIRST!  

YES 

x2 – 4  

 (x + 2)(x – 2)   

NO 

Can’t 

Factor!  

YES 

2x2 + 7x + 3  

NO 

x2 + x – 12   

Use decomposition 

(busting the B) 

2x2 + 6x + 1x + 3  

2x(x + 3) + 1(x + 3) 

(2x + 1)(x + 3)  

 

Use sum and 

product 

__+__ = 1 

__ x __ = -12 

(x + 4)(x – 3) 

 

YES 

6x2 + 9x + 2x + 3  

Factor by Grouping 

3x(2x + 3) +1 (2x + 3) 

(3x + 1)(2x + 3)  

NO 

5x2 y + 7x + 15xy + 21  

Reorganize the terms  

then Factor by 

Grouping, if possible 

5x2 y + 15xy + 7x + 21 
5xy(x + 3) + 7(x +3) 

(5xy + 7)(x + 3)  
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